
x1 M
irror

x1 M
iroir

x1 Espejo

x2 M
irror Support

x2 Supporte de m
iroir

x2 Soporte del espejo

A

x8 Allen bolt ∅1/4"x38m
m

x8 Vis à tête creuse hexagonale ∅1/4"x38m
m

x8 Perno Allen ∅1/4"x38m
m

B
C

x8 Flat W
asher ∅1/4"x19x1.5m

m
x8 R

ondelle plate ∅1/4"x19x1.5m
m

x8 Arandela plana ∅1/4"x19x1.5m
m

x1 Allen Key 4m
m

x1 C
lé hexagonale 4m

m
 

x1 Llave Allen 4m
m

E
F

x8 Lock w
asher ∅1/4"

x8 R
ondelle de blocage ∅1/4"

x8 Arandela de Seguridad ∅1/4"

D

Page 1 of 3

PAR
TS LIST / LISTE DES PIÈC

ES / LISTA DE PIEZAS
ITEM

 N
O

. / AR
TIC

LE N
O

. / AR
TIC

U
LO

 N
O

. : P344135
D

ESC
R

IPTIO
N

 / LA D
ESC

R
IPC

IO
N

 / D
ESC

R
IPC

IÓ
N

 : M
IR

R
O

R
 / M

IR
O

IR
 / ESPEJO

*
R

eplaceable P
art

*
*

*

*
*

Residential Use Only
M

ade in V
ietnam

 / Fabriqué au V
ietnam

 / H
echo en Vietnam

For further assem
bly inform

ation, please go to w
w

w
.m

yfurnitureinstructions.com

x1 Allen Key 4m
m

*100
x1 C

lé hexagonale 4m
m

*100 
x1 Llave Allen 4m

m
*100

G

*



Page 2 of 3

1

A
SSEM

BLY IN
STRU

CTIO
NS / N

O
 TICE D

E M
O

NTAG
E / IN

STRU
CC

IO
NES DE M

O
N

TA
JE

ITEM
 N

O
. / AR

TIC
LE N

O
. / AR

TIC
U

LO
 N

O
. : P344135

D
ESC

R
IPTIO

N
 / LA D

ESC
R

IPC
IO

N
 / D

ESC
R

IPC
IÓ

N
 : M

IR
R

O
R

 / M
IR

O
IR

 / ESPEJO

*
R

eplaceable P
art

Residential Use Only
M

ade in V
ietnam

 / Fabriqué au V
ietnam

 / H
echo en Vietnam

For further assem
bly inform

ation, please go to w
w

w
.m

yfurnitureinstructions.com



R
EPLA

C
EA

B
LE PA

R
T / PA

R
TIE R

EM
PLA

ÇABLE / PARTE REEM
PLAZABLE

D
ESC

R
IPTIO

N
 / LA D

ESC
R

IPC
IO

N
 / D

ESC
R

IPC
IÓ

N
 : M

IR
R

O
R

 / M
IR

O
IR

 / ESPEJO
ITEM

 N
O

. / AR
TIC

LE N
O

. / AR
TIC

U
LO

N
O

. : P344135

*
R

eplaceable P
art

Page 3 of 3

x2 R
P

344135-M
IS

U
 - M

irror Support
 

    S
upporte de m

iroir
 

    Soporte del espejo
*

x1 R
P

344135-H
W

K
IT - H

ardw
are Kit

 
       Liste des pièces de quincaillerie

 
       Lista del kit de m

ateriales
*

Residential Use Only
M

ade in V
ietnam

 / Fabriqué au V
ietnam

 / H
echo en Vietnam

For further assem
bly inform

ation, please go to w
w

w
.m

yfurnitureinstructions.com



*This statem
ent applies to any floor w

ithout carpet.

If not careful, all furniture including upholstery and case pieces can scratch, scuff and even gouge
floors. The recom

m
endation is to have felt, rubber pads or area rugs under furniture on flooring

w
ithout carpet.

M
oving your furniture

Pushing and dragging furniture over floors w
ithout carpet can lead to scratches and scuffs. H

ave som
eone

help w
hen m

oving the larger pieces of furniture by lifting, try using a dolly or m
oving pads.

Felt and rubber pads
Applying furniture pads to the feet of furniture helps cushion contact points. Furniture pads can be found
at locad hardw

are stores. Felt pads slide easily across the floor, m
aking them

 ideal for dining chairs and
other pieces that m

ove w
ith use. R

ubber pads w
ill help furniture stay in place and are perfect for larger

pieces, like sofas and loveseats.

A
rea rugs and rug pads

U
sing an area rug under furniture is another w

ay to protect your floor from
 scratches and scuff m

arks. A
rug pad under the area rug w

ill provide extra cushion and added protection.


	P344135 AI Model (1)
	P344135 AI Model (1)
	P344135 AI Model (1)
	P344135 AI Model (1)

